IN—YY X

BEO0—7— IR-W750 / 1000 / 1250

;

'E

X% | =— F No. e e T %
1 24137 7V-L 1 1 | IR-W1250 B ff]
2 24138 n-7- 1 | IR-W1250 =i/
3 24139 7V-13 1
4 24140 n-7-% %z L 1
5 24141 n-7-% z R 1
6 24142 n-7-1E DK 2
7 24143 BF1 () 1 | IR-W1250 #iH]
8 24144 T2 (k) 1 | IR-W1250 Eff
9 24145 HHA 1
10 24146 N ATV afvh 1
11 24303 7V-4 1 W750 1 | IR-W750 BH]
12 24304 n-5- W750 1 | IR-W750 5
13 24305 B F 1 L750 1 | IR-W750 5
14 24306 BT 2 L750 1 | IR-W750 B
15 24308 IR tERRIETE I~ v WT750 1 | IR-W750 B
16 25601 7V-4 1 W1000 1 | IR-W1000 Eff]
17 25602 n-5- W1000 1 | IR-W1000 Eff]
18 25603 1 () L1000 1 | IR-W1000 ]
19 25604 HF 2 (W) 11000 1 | IR-W1000 ]
20 24148 BF O\RER )~ VA 1
21 24149 M6 x 15 MM/ 8
22 24150 7978 Wb M6 X 45 2
23 24151 NP M6 2
24 24152 FNAFE Vb M8X18L  SW PW #HLA N, 12
25 24153 IR AR I~ v 1 | IR-W1250 /7]
26 24154 )7 % v TFKB2-M8x15 1
27 24155 )7 +v+  TFKN3-M8 1
28 24156 Fyyvy MO 10 2
29 25606 IR tEERIER T~ v W1000 1 | IR-W1000 Eff]
30 51466 SF-262KEIBUN ¥-V 1

Bfin—7—L, v —7—Y2=7 LAWNTFEE -
1 25608 IR-L300 1 | RN 47
2 25609 IR-L500 1 | RN 47
3 25612 IR-1.1000 1 | RN 47
4 25610 N AT Y vl 2




H 7L—2a--BF K

Gt 4 D 97,

\19\19

c7V-h1 E7V-03 A DLETE VT

A% ! 1
\\\\\?v,,_w

5 Y B H797

1
pa |

|

N AT Y advh
(3 ZHEEDTHTF1 &
T2 %#EELET)

HF 1(HR)

o
/7" +9+ TFKN3-M8

N )7 & v TFKB2-M8x15



